Year 5 Maths Week 2 Lesson 2 Subtraction Answers
Red

3929 - 518 = 9411
2346 — 237 =2109
4123 - 114 = 4009
3310 — 220 = 3090
3136 — 622 =514
3245 -1331=1914
6210 — 3301 = 2909
6334 — 4425 = 1909
3224 - 2145=107/9
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6210 — 3301 = 2909
6334 — 4425 = 1909
3224 - 2145=107/9
6342 — 4288 = 2054
3214 - 1423 =1791
6357 — 3448 = 2909
8887 - 7979 =908
4028 — 3045 =983
6802 - 6713 = 89
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Green

8887 - 7979 =908
4028 - 3045 =983
6802 - 6713 =89
8201 - 7322 =879
3014 - 2823 =191
8300 — 7288 = 1012
4000 — 3457 = 543
8100 - 1077 =7023
8584 — 7895 = 689
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